
 

_Q>oA/amÁ` ñnYm©/ Á ẁ{ZAa/2024   {X.26/09/2024 

à{V, 
{Oëhm g{Md/g§c¾ ẁ{ZQ>, 
_hmamï´> Q>o{Z¹$mB©Q> Agmo{eEeZ, 
nwUo. 
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_hmoX`, 

 Q>o{Z¹$mB©Q> \o$S>aoeZ Am°\$ B§{S>`m, h¡Xam~mX `m§À`m {dÚ_mZo hmoUmè`m 
Á ẁ{ZAa amï´>r` ñnY}V gh^mJr hmoÊ`mgmR>r _hmamï´> g§K {ZdS> amÁ` AqOŠ`nX 
ñnYm© {X.07 Vo 09 Zmoìh|§~a 2024 amoOr n§T>anya ({O.gmobmnya) òWrb JOmZZ 
_hmamO _R>, n§T>anya òWo Am`mo{OV Ho$cr Amho. `m ñnY}_Ü ò gh^mJr hmoUogmR>r 
Amncm g§K nmR>{dUo Amdí`H$ Amho. Amnë`m {Oëhm ñnYm© Am`moOZ H$éZ 
Amnë`m {OëømMr àdo{eH$m amÁ` AqOŠ`nX ñnY}g {X. 01 Zmoìh|~a 2024 
amoOr gm §̀H$mir 4.00 n ª̀V nmR>{dUo Amdí`H$ Amho. 

1. àË òH$ {OëømZo Amncm (6 _wco, 6 _wcr, à{ejH$ d ì`dñWmnH$) 
g§K hm 16 gXñ`m§Mm amhrc. 

2. 16 gXñ`m§gmR>r {dZm_wë` {Zdmg d OodU ì`dñWm Agoc. 
3. ñnYm© gm§{KH$, EHo$ar, Xþhoar d {_l Xþhoar S>oìhrg H$n nÕVrZo hmoVrc. 
4. ñnYm© Q>o{Z¹$mB©Q> \o$S>aoeZ Am°\$ B§{S>`m `m§Mo AÚ`mdV {Z`_mZwgma 

hmoVrc. 
5. gd© IoimSy> `mo½` ẁ{Z\$m°_©_Ü ò AgUo Amdí`H$ Amho. 
6. gd© Zm|XUrH¥$V IoimSy> `m§Zr ñnY}_Ü ò IoicoM nm{hOo. 
7. gh^mJr ñnY©H$mMr OÝ_VmarI 01/04/2006 d Ë`mZ§VaMr Agmdr. 
8. àdo{eH$m pñdH$maÊ`mMr A§{V_ VmarI 01 Zmoìh|~a 2024 
9. àdo{eH$m nmR>{dÊ`mMm nÎmm -  
 1) _m.{^_amd ~miJo (g{Md)- _mo~m. 9325669455 
 2) _m.BŠ~mb eoI - _mo~m.9420762786 



 

 3) àm._hmdra AmImS>o- ñnYm© g{Md, n§T>anya, {O.gmobmnya   
 g§nH©$ : 9921836871 / 9834961671  
10. g§K n§T>anya òWo 06 Zmoìh|~a 2024 gm §̀. 04.00 dm. n ª̀V 

nmohmoMcm nm{hOo. 
11. IoimSy>§Zr Amnë`m~amo~a 4 nmgnmoQ>© gmB©O \$moQ>mo AmUUo Amdí`H$ 

Amho Ë`m{edm` gh^mJ/_o[aQ> à_mUnÌ {Xco OmUma Zmhr `mMr Zm|X 
¿`mdr. 

12. ñnY}À`m {R>H$mUr OmÊ`mgmR>r Hw$Sy©>dmS>r aoëdo ñWmZH$mdê$Z n§T>anyabm 
OmÊ¶mgmR>r aoëdo VgoM EgQ>r ~gMr gmo¶ Amho.  

àdoe àdoe àdoe àdoe \\\\$s$s$s$s    
1) g§K àdoe \$s (_wco)  - é.5000/- à{V g§K   
2) g§K àdoe \$s (_wcr)  - é.5000/- à{V g§K  
 (O_m àdoe \$s _Yrb 50% aŠH$_ ñnYm© Am`moOH$ `m§Zm {_iob.)   
3) g§c¾Vm \$s  - é.5000/- (dfm©VyZ EH$Xm) 
4) {dH$mg {ZYr  - é.2000/- (dfm©VyZ EH$Xm) 
 
       Amncm {dídmgy, 
 

 

 
 
 

àV g{dZ` gmXa 
1) _m. Am ẁº$,  
 (H«$sS>m d ẁdH$ godm g§MmcZmc`, nwUo.... _m{hVrgmR>r) 

2) _m. {Oëhm {H«$S>m A{YH$mar, gmobmnya {Oëhm ..... H¥$n`m `m 
ñnY}gmR>r Amncm à{V{ZYr nmR>dmdm hr {dZ§Vr. 


